KH-5116L

LH INNER RECAPTURE SCREEN ASSY
Smart Sprayer, see KH-5116R for RH side.

NOTE

Drawings are forillustration purposes only - referto sprayerfor

actual plumbing. Parts lists are indicative of the sprayer fype.

Items in italics or without a part number are non stocked items

and may need to be specially ordered.

kForfur!‘her paris information referto www.croplands.com.au

7
ITEM NO. PART NUMBER DESCRIPTION

1 AG11058 O-RING
2 AG40003 FLAT SEAL 3/4" EPDM
3 AD10003 MANIFOLD FORK T3
4 Al190320 ELBOW T3F D.20
5 A205030 BACK NUT 3/4"
6 A24%133 HOSETAIL T3M 3/4M
7 HP-325-01 RECAPTURE SCREEN MESH INNER
8 HP-325-02 RECAPTURE BACKING INNER
9 HP-325-03 RECAPTURE AWNING INNER
10 HP-325-07L RECAPTURE FRAME INNER LH
11 HP-325-07-1L RECAPTURE FRAME MOUNT INNER LH
12 HP-325-08-1 RECAPTURE CANOPY INNER
13 HP-325-08-2 RECAPTURE STRAP VERTICAL INNER
14 HP-325-08-3 RECAPTURE STRAP HORIZONTAL INNER
15 HP-325-12 BRACKET RECAPTURE FILTER
14 MEX85BOLT M8 X 65 HEX HEAD BOLT HT ZP
17 MEX25 M8 X 25 SET SCREW HT 2P 12
18 MBFWASHER M8 FLAT WASHER 7P 32
19 MENNUT M8 NYLOC NUT HT 2P 16
20 M6X 163SSCREW M6 X 16 SET SCREW 5§ 10
21 MEFWASHER M6 FLAT WASHER ZP 20
22 MENNUT M6 NYLOC NUT HT ZP 10

13/10/2020, issue A Parts lllustration

Specifications subject to change without notice

Pagel of 1



